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% Choose the answer that is closest in meaning to the underlined part. [1~4]

01 From the moment he set up the shop on Avenue K, Stanley Kaplan was a pariah
in the educational world.

@ an outcast @ a king @ an expert @ a novice ® a creator

i 1 =/ 7 Kobell steds A, 2~dE] Ah3
o A.

SN MO 2= pariahd] 55& F5E 5 Itk pariahe Q= FFAE AlmolA Hwlo] df
gk wolth. FAAQ ozt #WES © AW outcast’t @ETh pariah BEFHW
(untouchable), WM& ALgl, outcast ¥ro2 ©AZ Al AXFH Abgh, Ak

m1u

&

flo
flo

H S Abgrel T w7

02 I think it a less evil that some criminals should escape than that the government
should play an ignoble part.

D a laudable @ an admirable @ an illegal @ an ignorant (& a shameful

Bl U g2 e cfoleba Azgty A% WAL dEehe o)/ Z¥t nAst
A 23 48 e A noke,

BN ignobledt 98-S &= o] more evildtthal O EZ | ignobled FAH A o]7ke]
Zro]t}. ignoble 1174314 (noble) %3H(ig, in=not)?] ZFoz ‘HlAsAY AFH & =%
gttt laudable F¥FE 3, admirable &2, ignorant 4 %H(ignore A3tttk

ignorance F#|)

3 For the last two years, we have had to get along on a shoestring.

@ by ourselves

@ in time of need

@ with very limited funds
@ without help from anyone

® with the cooperation of others

A A 2z S-El= Aokt vl Hueukst o=
BN get alonge #~(along) &S A&gith, AUt 58 9vgit). ond 9 &3k A HS
oJu]slat(depend on, rely on, survive on sth), 7+ (shoestring)< TFHA 4 911 &

o oe ovigt,
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4 Many men who spend their working life in the city devote their weekends to

voluntary and unremunerative toil in their gardens, and when the spring comes they

experience all the joys of having created beauty.

@ profitable @ valuable @ important @ useless ® unpaid

BN B AFRES/ EAA AGAALS she/ 1o FES vty AdA ol = wE
A &= e/ 159 AolA, e | oW/ 252 olgdws 2% BE &7
= At

SN and ool = FEAF voluntary®t H]Sd o] unremunerative©]t}. voluntary e
volunteers A7AI71aL, FEnit; Go| A ApbAo g = whx] fa Udgirh= ol <l
2922 unpaidE 92 & 3tl remunerates ‘Y(mun)ol thal B A (re)stth s o)
=3

% Choose the answer that best completes the sentence(s). [5~9]

5 A handful of scientists are picking apart infants’ utterances and finding that not
only is there an ordered sequence of vocal stages between birth and first words,
but in hearing—-impaired babies a type of babbling thought to signal an emerging
capacity for speech is .

@ prompted @ emitted @ distorted @ conferred ® fortified

20 A5 frobe WS FAleta v/ gla wAska ol S EA 9
7} Oéi*o(sequence)ol Ys ¢ S

Auk ot/ Bjojua A EE S Aboldd/ A
(impaired) o}7]E5°lA &¢olo Fej7l/ WA sh=(emerging) AolsH S FA
AAA =/ A5 AvE A,
kel &<ol(babbling) S A-ato], & <3 Ao Al =47 vk s W
Wk Aol FAlolth but theolls HY Aot e ob7lES oloprletal, &4 RSt
g2 a7t sx2EA ek i sdol7t JAEE S Aolth prompt AT
AZstt, emit (&g, WA 58) WESHdh, distort 9= (tort=twist), confer 2|3}
THconfer with sth), =918}t (confer sth on sh), fortify Al 7] tH(fort=force)

U

o b %o

t rkﬂ rir
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6 The Los Angeles riot of 1992 was arguably the worst race riot the nation had
ever experienced. Over three days of rioting, over 50 people were Kkilled and
thousands more were injured. By the time the fires were put out, 8,000 buildings
had been destroyed or damaged by fire, (A) over $1 billion in property
damage. As the smoke cleared, Americans were left (B) and wondering what

had just happened.
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(A) (B)
@ amount to dazing
@ accounting for to daze
@ amounting to dazed
@ which accounts for dazing
(® that amounts to dazed

BA Los Angeles riot. 1992 LA Z5& 5dglo] ot Q% ZFo|du/ XF7HA
o] Aggh AbZol A FHFo R 509 o)l U £ Hol vt Az AR
S Wl WY 8,000 7F FAAAY &S AU shAell o&l,/ EetA AAE &3
7} 109 o] el A717F AAE A}, n=mlES =5kl ootdl] P}/ F& do] dolEA.
i FA= Fsriot)elth (A)e 83 7 &5l A= FAHAT= F4 FHeol Ak
&Aool Ao g olEres TS AR Aol & A olth (o)) ~o o]Erf =
amount to stho]lil, FAFE wSo]Folop slmE -ingE Bt B)E Fol7t
Americanse] il ®|=<¢19] Arel7} surprised, frightened®] =¢jojel dazed® Arejolt},
dazet U tste] o] T adldttE dazzled} #EE FAR, ‘dredsiy, ) A
ojgtol FAls oty & gt

e o

Qg
it

7 The tradition—-directed person takes his signals from others, but they come in a
cultural monotone; he needs no receiving equipment to pick them up.
@D erudite @ insignificant @ complicated @ exorbitant ® irradiant

%o BNES UE AYERYE At/ 19
o ooE BgE AN E ew s e

&
Z
2
of
X
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BN AEXZFAQ AlHe thde B3z o2 tEEHmonotone)E A ol™, monotoneol

9}, pick them up9] them< signalsE W13}, A%
, 5 oEFer #8747 gloks 8otk erudite BHA
(rude=crude =°F3H), insignificant =23 A ‘é’it, exorbitant AUz, AYRA =&
(orbit %), radiant F&3tA Lrb=(radi=ray)

8 Tax rates usually need to be raised. One would like at the same time to improve
the distribution of income in the country, or at any rate not worsen it. Moreover,
People’s incomes provide the primary incentive to greater effort and output. If this
incentive is too much reduced through taxation, the whole effort to raise output
may .

@ continue @ falter @ intensify @ be boosted ® flourish
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BiA tax rates--be raised. YW oz A& Ad I
MAsta Aol 3 Aoty yetelA],/ S Aok a7S o Al
gt AFEEY 252 F83% A5E Aty o B2 =83 Akl dis). vhek

Aol Ui wol ftadvd/ 2AE F8,/ NS 2YdE dAAY =¥e FEEA 2

Ao},
o) % %

7](incentive) & A& 3= 250 JFAE ) UF Astgcid, H
B

olth= wo| FQaith Meldoa] Aol yolro] WS Zow falteryt

FAFANY, 9EEE Do

9 A good way of ridding yourself of certain kinds of dogmatism is

opinions held in social circles different from your own.
@D to be opposed to

@ to be distanced from

@ to stand clear of

@ to become aware of

® to become suspicious of

S F2 W2/ FACAA oW TR S84 =S glols/ ok A Aot} A3
gl os) A7lE ojde/ FAI vE 2w

S S (dogmatism)e A S F2 W2 tE Ao oS ok A Aol
o] A= dogmatismo] dogma(ilz, A1%), doctrine(ilg]) 52 #HHAS 1~ HTF
& ke AQA dotop E A

10 Choose the underlined part that is not grammatically correct.
The first successful British colony, at Jamestown on Chesapeake Bay in Virginia, @

was not founded until 1607. The first settlers @ relied on suppliers from England

and depended on the Indians @ to teach them how to survive. Not until @ they

began cultivating tobacco for sale abroad ® they could finance their activities and

develop their country.

WA The first successful British colony. # %9 342l = WA=, HAYo}
A ] A vk A 2ERell A=,/ 1607 0] FojAjof HlE A& ARt HExe o|FAE
& =0 ARFEAA =y 28 IYAEdA &8y 2ol A AEsHE W
P23 "l E Auistr] AJAgE Sollol/ efe] s 913l 25 159 &Fdd A

22 = A ada vehs A S Al

ol o2 7|
o mlo
N
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A D not until FE7F e Agel $55 hem gk 1607974 A H(found)¥ A
btk EEsl M85 HAR. @ rely on sb7k AAF. @ QUdEe] 7] AaAE
oA AENS Fh=HThs 2 WA the Indiansel hak olofr]E o]o] sjFolo} witt. ¢l
deEe ARAEe] 250 olEd o ¥ AL HUz, WY AYshs oV 9

Aste= Aol =L @ H 0101 not untilS Zx37] 3] 4 do =z W = not until
o] o]711& W&ol o v o o] X7} o]Fojxjol gttt BF could they finance
2 v

11 Choose the sentence that is not grammatically correct.

@O Who do you think is the most smart student in this class?

@ How come you are so late?

@ Hardly had the game begun, when it started raining.

@ The next time I will go to New York, I am going to see a ballet.

(® Temporary jobs decreased by 108,000, pulling down overall employment.

M O Ye o] whell A 7} 7h 53k Aok Ay 7ket?

@ AR T} o] FHA =AY?

@ Ads AlzeApmbt, v7F e 7] A zbek i

@ el Wrb &ol 7H, s 3 E B Aot

® A A2 108,0007 7 5\_510“3}/ A A 7F oA HA.

s @O AR o] &9 the most smarti the smartest® HFFo]of S}, &L -84}
g, Hlulgo] —est, —er® AT 7] wjEolty. @ How come S +V?7&= ‘ofA 7} ~3l
U= AE2Y, How come Taole Fo)¢ SAFE =XA17]1#] &=t @ Hardly~,
when 722 ‘Astatuiat BIvPE @9t Hardlyshs FA0l2 B48 AlA4gonzg,
had the game begun® = EX|8t Zlo] &t} @ the next timeelgt AIIHFALE S Al
sk AEAE ool el dAl AAE Hof stk ® YA A o] &= 108,0007H7F
=, ARl 18-S Hojug AL o7iA el weld OWHE SSAIN @We] o g4
sHAl E%7] Wi @& dow et

12 Choose the best translation of the following sentence.

I Aol A A, ojd Edx 108 48 FA g

@D As he has an exact concept of time, he takes part in all meeting ten minutes
early than schedule.

@ As he is an exact man, he attends any meeting ten minutes earlier at the
appointed time.

@ As he is very punctual, he arrives at every meeting ten minutes earlier than

schedule.
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@ Because he is a punctual man, he participates in every meetings ten minutes
before usual.

(® Because he has a punctual idea of time, he attends to any meetings ten minutes
behind schedule.

i ‘A o] F &St = punctualel A exactZt obd. @ HiAlL AV I Ho'= o=
t}. take part in¥} participate™ 99 (part)S @93ttt Z2 A7k 93 2vh=(arrive)

of tp2oh. O, @ A9, ‘UH ' beforeo]#| behind7} o}d. ® A¢].

13 Select the answer that best suits the context of the following passage.

As its name suggests, ‘formalistic’ criticism has for its sole object the discovery

and explanation of form in the literary work. This approach assumes the
of the work itself and thus the relative unimportance of extraliterary

considerations — the author’s life; his times; sociological, political, economic, or

psychological implications.

D background @ autonomy @ reputation @ advantage (& history

WA “formalistic’ criticism. =2 o] AE= A A
Moz WAy AWS zterl FESAEE] Ao o
A o] AT wEtA Addow FQs5H] 2SS
2b7ke] b 9] Al ARSl A, A, A

B AR ol B ahul o]
i

A Z+8lt). the relative unimportance of extraliterary considerationsZ the work itself

o & FEe wgow g & 5 AAAW, FIE FPHelw AXHQ Felrk,

¥ Read the following passage and answer the questions that follow. [14~15]

According to anthropologist Irving Hallowell, there is no evidence that humans have
an inborn sense of time. A person’s temporal concepts are probably determined
largely by culture. One study showed that infants, after a few days of listening to
speech around them, will move their heads and limbs in rhythm with the speech
they hear. As children develop, they adapt more fully to their temporal culture.
This temporal culture influences language, music, poetry and dance. It also affects

relationships. We tend to (A) people who share our sense of time.

A no inborn sense of time. Q17F3HA} oW A= of ofstH /) TAHE ¢l
ayk AE AZEE A AL ke AR AIRE I ES obnte AR

g, & ATE RFUY frobEol/ IE Fue WL WAL E& Fol,



98 gAold @t/ PES wiel/ 50| Bt ol ofdlololEe HAHUA/ 15
o 9As HSFy 1Ee] AR wabel. o] AZHESE ol Sof, A% Fol 4B F
oo e B WANE 9 Frh $EE 4Tl Aty AR B A/ A% 7S

14 What is the main idea of the passage?

@D The innate quality of human nature for language

@ The importance of cultural diversity in modern times
@ Arts and anthropological discoveries

@ Different cultural attitudes towards time

(® Interdisciplinary approaches to language education

B 9178kl WEW, ‘sense of time'S Efaubx] @kar Falo] o)s] azEdh w=el
T2 5, 108 = Ak A4S v ZFAS-AR, oy

ow Hdrlo] AlgELS 308, 1AIZE =& FE ofF oALRE of= A

oot} &3} b Apelo] itk olokr|E S A Fike] didk HEFY 9

Hal kA olth. (DY language, @9 cultural diversity, @9 arts, ®

9] language &°| &t

15 Which of the following best fits into the blank (A)?
@ take issue with @ take advantage of
@ put up with @ get ahead of

® get along well with

B FAE QF AFE2 HIZE FENE glolx, F AU tp Tt Eojd Ak o] EW e take
advantage of sb/sth ~& ©]&3}t}, put up with sb/sth ~& 2t} get ahead of sb ~H
= P a=s

16 Where is the most appropriate spot for the following sentence?

[It depends on such things as whether you are older or younger, a close friend or
a relative stranger to the previous speaker, in a senior or junior position, and so
on.]

(A) A Japanese-style conversation is not at all like tennis or volleyball. It's like
bowling. You wait for your turn. And you always know your place in line. (B) When

your turn comes, you step up to the starting line with your bowling ball and
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carefully bowl it. Everyone else stands back and watches politely, murmuring
encouragement. (C) Everyone waits until the ball has reached the end of the alley
and watches to see if it knocks down all the pins, or only some of them, or none
of them. There is a pause, while everyone registers your score. (D) Then, after
everyone 1s sure that you have completely finished your turn, the next person in
line steps up to the same starting line, with a different ball. (E) He doesn’t return
your ball, and he does not begin from where your ball stopped. And there is

always a suitable pause between turns. There is no rush, no scramble for the ball.

@ A) @ B) @ (©) @ (D) ® (E)

BA Japanese-style conversation--not tennis. (A) LE<2A h3l= Ad ol HUY
2y v gre) 22 Aol aRe vkx By g Al G AEHE vivdy. o g
A GAle a1 dollA FAle] A E. (B) AL o3 AL dH U Gl
AN oly™ A3}, 77k HF ol WA BEte WA AFERIA, AaA e da A
| 59, ZAe A7 e,/ ERXow trrbA/ BR8ES 7HA 3/ aglal ASEHA

o
VL
2
>

29 2o AHE 7jgea EoAe 9IS <t (B) 7
. (D) t& Algo] t}
=3l YERdT (B) 2 For Ays &

, U7 WA @ g~star ) F AT tistel FolstAl gkevh w74 Yok, ¥
AL A5 mutmEer Aygsiog jto] A, voluh s &4, Agel wEk AA =
H3 W, your turno] ZAolgh= o]l meldrt 2008 E7H4 9o A 1}

H=RlEe] HY22 distHe] o]ojxl &7 ).

O

rlo

% Read the following passage and answer the questions. [17~18]

On October 14, 1973, in one of the biggest tank battles in history, Israeli forces
routed an invading Egyptian Army, destroying about two hundred and fifty tanks
and losing just twenty-five. Two days later, the Israelis———who had been aided by
an American airlift of military supplies——-crossed over the Suez Canal and into

Egypt. In retaliation, the Arab members of OPEC declared an oil embargo against
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the United States. Long gas lines became commonplace and the U.S. economy fell
into a recession. In a nod to austerity, Richard Nixon decreed that the national
Christmas tree would go unlit. Thirty years later, we can't see past that darkened
tree. The embargo, which lasted only a few months, still shapes the way we think
about the politics and economics of oil. Ever since, the spectre of Arab countries
using oil as a political weapon has haunted discussions of the Middle East and the
global petroleum market, and has kept U.S. policymakers obsessed with ‘energy
security’ and with ‘energy independence’ from what has come to be known as ‘the
axis of oil’. Fear of the oil weapon leads commentators to fret over how the Arab
states will react to President Bush's ambitious plans for the Middle East, even as it
inspires some advocates of those plans to declare that they will bring ‘new

prosperity to us all, by securing the world’s largest pool of oil’.

BiA Israeli >> Egyptian. 1973 109 144, AAM 7FF 2 ot 27F W 8 37050
A olzetdle FEor dFAZY HeEd o o]JE FuE,/ oF 250019 BWAE I
Hatar/ 2509H-S A omA. o]E &, o] agtd AMRES---dx WE/ wmol A T
TA BEES-———Fi| 23S AW/ 2gla o|gER Ztth o]o] tidt H E(retaliation)
S %, OPEC ot#3ld=5L Aty A+ 4 4% (embargo)</ Pl=ol gk 2 A
SolAd I W Fo] &3 do] HAa/ "= AAl= =54 7](recession)ol R

W3 (austerity)S Q1AsIAA,/ A= UYEse st th(decreed)/ A=z o2 Hg An}
2Eg] &5 AA Dkl 309§, e AAE B F /Y EYE ofuA Ad. 1

=

(o ri gl
0

FAHE, vA B G ALHEd, ode Sk A e FAdHA LA
e/ A4 % 19} AA S el AR, ok FAEe] W (spectre) S/ AHE A
A Bl oplo}aq% 22389 tHhaunted)/ F50 @ =29 AAX A Fel, 12
njze] A JARES ARFE e o v omg} A Eel/ Afe] F o
. Af 7)o W FEN =BAES 228 drk(ret over)/ o} F7IEC] o
A wks Ao/ BA tlEHe] ofAHel A/ FEol uE/ 2R Ao RFr|u

A8k 150] 7S Feolghar/ ‘98] Rl
A2 HG(prosperity) S,/ AlANA 71 & AF F5S SRgo=zH.

17 Choose the answer that is closest in meaning to the underlined austerity.
@D economic difficulties

@ threats by Arab states

@ the dilemma of U.S. policymakers

@ comments by U.S. journalists

® the recovery of oil markets

i ko] FA|E= the biggest tank battleso]x, o]xgtdla} o|HEF9 HAogth,
austerity ¥ F 9o W8S HW, OPECo] XMFAAES ZAAAA FoUF W= Z(gas
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line)o] AA wolx= & BAALE off& Folth austeritys A& UNFH, F53 A

T2 ofv) g,

18 Which of the following is not true according to the passage?

@ In the popular imagination of American people, oil remains a political weapon.

@ ‘An oil embargo’ means the ban on the oil export.

@ The attack of the U.S. Army against Egypt was the direct cause of the embargo.

@ ‘The axis of oil’ implies the power of the Middle East to control oil production.

® A shortage of oil supply was the main cause of an economic recession in the
mid-1970s of the U.S.

A= FA4 &gel & Medlnirte] @ H1S Erd D oil, political weapon;
A

2~

=
TAFEES JEi Fua gornz Ed AL @
’] =]

o
= duEhs A &w. © e Bl s 1970

¥ Read the following passage and answer the question.

To keep clear of concealment, to keep clear of the need of concealment, to do
nothing which one might not do out on the middle of Boston Common at
noonday—---1 cannot say how more and more it seems to me the glory of a young
person’s life. It is an awful hour when the first necessity of hiding anything comes.
The whole life is different thenceforth. When there are questions to be feared and
eyes to be avoided and subjects which must not be touched, then the bloom of life

1s gone. Put off that day as long as possible. Put it off forever if you can.

19 Which of the following does the author recommend to his audience?
@ To deny the necessity of aging

@ To rationalize one’s misconduct

@ To act in an aboveboard manner

@ The necessity of a placid life of postponement

® To conduct themselves to feel the need to hide their deeds

&

A =4 (concealment) S Ist7] fl&ll,/ w4 28 E 37] fl8l,/ ol F A= A 7]
A8/ el B 3 drbeddA sHA] Rolx: H d&--—-ve 28 ¢ o/ Evt
w azle] AR ¥ @dFoRE Hole=A/ S AMgEEe]. HA S awful) Algtelty FATt +=
4 A WA 8ol trted. BE AL g2/ AVIAFHE FA9E dEsd 9

i
>
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w3/ A=EAE ¢k HiE FA o/ A AT Al eSO 9s 2
s v & Sk drhd g 9s] v Feh

AN FH3t= vlE golof 3t} ‘concealmentE X 9-7] AR AlZFsle] 194]17] Zu+
of & A 2 A4 d 4R FHAQ EE 3 AT, When there aref-E& A
ZQl ololr|7} Vet TS Awd AEE, datn 4L w45 A=gAd o HE
TAES EF concealment® Q9F% a1, ¥l FEo] AS uwf gte] & o] o EFL2 Al
A gormz Fspx] @i GistA ghagts otk O deny, @ #3d d5S T
3t3te}, @ postponement (7189]) 17], ® hide their deeds S°] & zl<o]il

aboveboardE # oA AEsIEE ol E, 7R b= o] I

% Read the following passage and answer the questions. [20~21]

It i1s a common misconception to regard innovation and tradition as diametrically
opposed to each other. When innovation is valued as a defining characteristic of the
creative process, tradition often becomes set up against it as inevitably static and
unchanging. In this view, tradition inhibits, and is seen as an impediment to be
overcome. We want to challenge this notion of tradition. As with convention in its
primary negative sense, tradition shouldn’t be taken as the antithesis of innovation.
(A)
innovative forms and practices as informing and supporting each other. It is only by

seeing them as deeply divided, we want to consider tradition and

thinking about their interrelationship that we can understand processes of creativity
and cultural change. Creativity doesn’t emerge out of a vacuum, (B)____ builds on
one or more existing cultural traditions. This is true of poetry, architecture,
film—making, styles of singing and any number of other examples.

© . Innovation should be understood by

rejecting those approaches which set it separately against tradition and established

cultural practice.

#AM innovation and tradition--opposed X. &3k ¢ djojt}
(diametrically) 7] A2, gale] Hrid o/ x4
of digst= 3ol o)/ B7H9EHA WslelA] Ay W
A, A A g/ 131—’ oAAXIT FEEojoF &
th/ olfl Mg Adel. AFelAAR FAFA0 9 X—E&% g
58 Zo —r‘ﬂg Aoz H7] Hue, Tﬂt & Wt
A FHAEY BEFES/ AR AT AHshe Hom, 24 2
3l j oltl/ S-E7t A 34 Wste] A o T F de AL RS
& A vUetdAl = e/ 28y sty e o B2 71E9] w34 A5

A w7k olvt Al A, °ﬂ§3‘rxﬂﬂ ‘—fﬂl }L ’\E‘r‘”ﬂr B> oE At E

D5/ 1 S TAE MoK, S olelHolol @/ 1ed B E AVE
2R/ A wristel 1AL Bestn/ B3 BHS JAA7E B,

g
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20 Which of the following best completes the blanks (A) and (B)?

(A) B)
D Rather than but
@ In spite of SO
® Despite for
@ While for
® After but

i Hald dEe AE RkE olYete Beol FAlolth. (A) YollE tradition©]
innovation® anti-7} o}y &1L 3T}, seeing them as deeply divided® H A UA= L&
gojoF sfyzt, ‘~eb7] Hrheh= 529 Rather thano] Badith (B) o= HEAHE Holok
s, el A+ not A9t 35 ©]F & but BE ¥+ Aglo|t.

21 Which of the following sentences best fits into the blank (C)?

(D This aspect of creativity's value is closely related to a sense of what is new for
people.

@ Changing ideas about creativity have thus become integrally wrapped up in the
modern sense of individuality.

@ Imagination in creative practice has become the vital criterion of innovation.

@ This, in summary form, is the standard critical account of the production and
consumption of cultural commodities.

® In this sense creative talent requires a tradition so that it can learn how to go

further within it, or beyond it.

B ()2 Aol AB} Aol FHF F4ES Az U © Hols FAe A%

FAE HTES AR

29| olop|7} thstob Gk @ Fely 2
= AHED NS AEAAN AdaA 2L, @ dHI S

A gg, @ B8 3FA BF

= z

= Zoletal wetne A3

% Read the following passage and answer the questions. [22~23]

The notion that we live in a global economy is now a commonplace. Supply chains
extend halfway around the planet, and no respectable corporation would dare show
its face without at least pretending to have a well-defined global strategy. The

funny thing about the global economy, though, is how much of the globe has been
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left out of it. Four billion people still earn less than four dollars a day, and as far
as the global economy is concerned they hardly exist———-except, of course, as
cheap labor. But perhaps it makes better sense for companies to see the poor as
patrons worthy of their solicitations. Though developing nations don’'t have much
money on a per capita basis, together they control enormous sums; the ten biggest
developing countries have about fourteen trillion dollars in annual purchasing power.
Most corporations assume that the world's poor are so preoccupied with getting by

that they're indifferent to the allure of consumer goods or new technology, but the

evidence suggests that poor consumers are (A) to rich ones: they like to
shop.
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22 What is the main idea of the passage?

(@D Cheap labor is not assumed to be a target of global marketing.

@ Poor people have no interest in high-end products.

@ The individual purchasing power is still low in the developing countries.
@ Big companies tend to have little interest in the low—end market.

(® Penny-wise and poor people can be a big opportunity for the global businesses.
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23 Which of the following best fits into the blank (A)?
@ different @ impatient @ inferior @ similar ® anxious

¥ Read the following passage and answer the questions. [24~25]

Mark Ishaya was a toddler in Baghdad when his father died and his mother
abandoned the family. He was a child laborer in a Lebanese oil filter factory when
Palestine Liberation Organization guerrillas massacred co-workers as he hid in a
cabinet.

Zdenka Bulic was 21 when she emigrated from Bosnia nine years ago, frustrated at
the career roadblocks she faced as a Croat. David Nunez left his home in Mexico
at the age of 16 in search of higher wages.

All three have ended up in management jobs at the McDonald’s restaurant on
Peterson Avenue on Chicago’s north side, overseeing the 50 other immigrants on a
staff of 55.

Their achievement testifies to the energy and talent of immigrants who use ‘burger
flipping’ jobs that most Americans deride as dead ends to lift themselves to modest
prosperity.

Their success also reflects the effectiveness of systems that McDonald’s Corp. and
other fast—-food chains have been forced to develop to integrate vast numbers of
low—skilled workers into their work forces.

Hourly pay for McDonald’s crew members is typically only a bit higher than the
$5.25 minimum wage, and fringe benefits are meager. Employees leave so
frequently that this year McDonald’s and its franchises, which employ more than
500,000 workers in the United States and Canada, will have to hire well over that
number of new employees to stay fully staffed.

But there is an upside to this upheaval. The leading fast—-food chains have been
forced to concentrate more than other businesses on designing their jobs and
training programs with an eye toward quickly adapting large numbers of raw

recruits.
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24 The underlined word upheaval could be best replaced by.
@ advantage @ disruption @ low salary @ eye—-opener (& recruit
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25 Which of the following is not true according to the passage?

(D The success of Mark Ishaya, Zdenka Bulic, and David Nunez is due both to their
abilities and to well-developed systems of employee training.

@ Most Americans do not look upon part-time ‘burger flipping'positions as
satisfying jobs.

@ Some hard-working immigrants can reach managerial positions.

@ Native-born Americans rarely make up more than a handful of the employees at
the Peterson Avenue McDonald’s.

® McDonald’s has trouble keeping employees because the fringe benefits are bad

although the hourly pay is good enough.
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